Physics 10154 - Exam #2C

Answer the following two questions. Be sure to clearly indicate
your answer with a circle or box. Show all work. If I cannot
see how you arrived at an answer, I will deduct points!

1. A hiker walks along three straight trails: 7
Trail #1 is 2.5 miles long, 17° West of South. l/

w P
Trail #2 is 3.1 miles long, 22° South of East.
Trail #3 is 1.4 miles long, 63° North of West.
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Find the magnitude and direction of the total displacement.
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2. A rocket starts at
angle of 71° above the
altitude of 350 meters
is in free-fall. What
launching point to the

again?
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rest and accelerates 27 meters/sec’ at an
horizontal until it reaches a vertical
above the ground. From there, the rocket

is the total horizontal distance from the
point where the rocket hits the ground

?fO

v, Ctlaas
nEs 2 (27)(370)

Ar?/“’

50$

Fnd 2+

~3550D =
U at - /334 350 =

2§£fi£§‘ DN = 7 éD}/:z —~ 356 -
Vo = /%[ cos 77 L»’;_;V = N on A7
5{{ = /4] cos Z/° {/y ?
£ oo

1234 -4 97 <

.

e

/33 /k§

o

e

3

VLJ"§3)";}F"‘;‘3¥‘

/e

ZS>( “/nyfiéa)(239, éﬁg

/S . /7
f>4;, ey

7. ?

= /35,42 /599
27 6 <

——

/359

7 2
o § \,\ Vi
e

7
3 :3 ’J/{i /




